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Note: There are nine questions in all. First question of 
Part-A is compulsory and consists of ten questions 
having two marks each. The candidate will attempt 
one question from each unit of Part B and each 
question carries fifteen marks.
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PART-A (S7FT-3T) 
Compulsory Question 

( TT5R)
1. Describe the following :

(a) At the end of 10 years, how much is a $100 initial 
deposit worth, assuming an annual interest rate of 
10 percent compounded semiannually?

(b) Wealth Maximisation.
(c) Degree of Financial leverage.
(d) Cost of equity.
(e) Discounting and Compounding.
(f) Capital rationing.
(g) Yield to Maturity.
(h) Walter model, 
(i) What is annuity and annuity due? 
(j) Discounted cash flow (DCF).
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PART-B (RPT-^)

Note: Attempt any four questions, selecting one question from 
each unit. Each question carries fifteen (15) marks.
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UNIT-I

2. How does the 'modem' financial manager differ from the 
'traditional' financial manager? Does the 'modem' financial 
manager's role differ for the large diversified firm and the 
small to medium size firm? Explain.
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3. What do you mean by financial forecasting? What are the 
various techniques available to a finance manager?

tMfa 3 3TTTO5T TOT 3ltol4 t? farffa
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UNIT-II (^inf-ii)

4. Explain the assumptions and implications of the 
NI approach and the NOI approach. Illustrate your answer 
with hypothetical example.
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5. A firm's sales, variable cost and fixed cost amount to 
Rs. 75,00,000, Rs. 42,00,000 and Rs. 6,00,000 respectively. 
It has borrowed Rs. 45,00,000 at 9% and its equity capital 
is Rs. 55,00,000.
(a) What is the firm's ROI?
(b) Does it have favorable financial leverage?
(c) If the firm belongs to an industry whose asset turnover 

is 3, does it have a high or low asset leverage?
(d) What are the operating, financial and combine leverages 

of the firm?
(e) If the sales drop to Rs. 50,00,000, what will the new 

EBIT be?
(f) At what level will best of the firm equal to zero, 

fwt, <r1Pld 3<k AR-cia uf?T 
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UNIT-III (^jlf-IIl)

6. The Earning per Share of a company is Rs. 8 and the rate 
of capitalization applicable is 10%. The company has before 
it, an option of adopting (i) 50% (ii) 75% (iii) 100% dividend 
payout ratio. Compute the market price of the company's 
quoted shares as per Walter's Model if it can earn a return 
of (a) 15% (b) 10% and (c) 5% on its retained earnings.

R 8 3TFT t 3^1 ffi|ch<U| R
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7. A company is considering two mutually exclusive projects. 
Both require an initial investment of Rs. 20,000 each, 
and have a life of five years. The company's required 
rate of return is 10% and pays a tax rate of 50%. The 
project will be depreciated on a straight line basis. The 
before taxes cash flows expected to be generated by the 
projects are as follows :
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Year 1 2 3 4 5
Project-X Rs 8,000 Rs 8,000 Rs 8,000 Rs 8,000 Rs 8,000
Project-Y Rs 12,000 Rs 6,000 Rs 4,000 Rs 10,000 Rs 10,000

Calculate for each project : 
(a) The payback period, 
(b) The average rate of return, 
(c) The Net Present Value, 
(d) The internal rate of return, 
(e) Which project should be accepted and why?
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UNIT-IV (^rf-IV)

8. What do you understand by working capital? Discuss the 
various sources of working capital fund.

9. ABC Ltd. sells its products on a gross profit of 20% on 
sales. The following information is extracted from its 
annual accounts for the year ended 31st March 2020. 
Sales (3 month credit) Rs. 40,00,000
Raw materials
Wages (15 days in arrears) 
Administration Expenses 
(one month in arrears) 
Manufacturing Expenses 
(one month in arrears) 
Sales promotion expenses

Rs. 12,00,000
Rs. 9,60,000
Rs. 4,80,000

Rs. 12,00,000

Rs. 2,00,000
(Payable half yearly in advance)

The company enjoys one month's credit from suppliers 
of raw materials and maintains two months stock of raw 
materials and one and a half months finished goods. 
Cash balance is maintained as Rs. 10,00,000 as a 
precautionary balance. Assuming a 10% margin, find out 
the working capital requirements of ABC Ltd.

Cost of sales for calculation of debtors and cost of 
finished goods may be taken at sales minus gross profit 
as per rate of gross profit given.
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